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If the beam over the entrance of a 1an was higher than 20
NN, and he wants to raise the ground so that the beam will
be less than 20 mnR off the ground, how wide an area into the
"an must be raised to within 20 mn»X off the ground?
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Rav Yosef says the width of one nov is sufficient, while »ar
holds it must be four o’nov wide. The X312 has four sugges-
tions as to what the basis of their npomn is:

First, 7mpn nnn wnnwn amm 710 nov WRT IND -

Since qov "1 holds that one may carry directly under the
beam, as long as the beam is recognizable at that spot, people
will avoid carrying out of the "2 into a IR NP1 .02 MW
7PN DAN WHNWAL NOR 710 Y2IN -

. 72N holds that one may not carry directly beneath the beam
so the beam must be recognizable from inside the »an, before
entering the area directly underneath the 7p.

The minimum area considered significant is 4 D'nov.

’
The second approach - DK NN 2K ABY 29
QoY 9 - 92’01 DWW 7P 720 W holds the beam is just a nﬂ;;:jN n 20
reminder, so one Nov suffices - »aR - XM OWH ANP 720 W -
holds it creates an Halachic nx’nn - and as Rashi explains;
N7 AT IRD "7 PIRT APRW AR - puliriaPaiaty) udipapyinky
A partition is considered a nx’mm» only if it marks off an area YEY s My DIWY SN
of at least four onov. IPE DS A% 1))
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The third approach - Ho

1501 Sw 9279 70N SW 927 1R 720 0 -

R’ Yosefholds the reminder below only has to be as large as
the reminder on top.

151 Sw 9279 7o Sw 97 1R RS 720 M) -

Abayei holds the reminder on the floor must be larger than
the reminder on top.
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that the ground that the ground
The final explanation, will erode will erode
NODMDP MIND RDW 717111 -

»aR requires a larger space because he is concerned that over
time the raised ground will erode and become narrower, but
qo» 29 is not concerned about this.
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The Gemara continues;

onov mwwn Mo i - if the M was less than ten onov off
the ground, how wide an area into the 21 must be dug out in
order to be permitted to carry in the »121?

Y2982 IR 07 27 - R’ Yosefholds an area of four onov is
enough.

NN PIIN2 IR IR - Abayei holds we need to dig out an area
of four mnR into the nan.

As Rashi explains, the depth into the »121 must be equal to the
minimum size of a nan.

The Gemara quotes "X 17 and "ox 17 who say that if one of
the side walls of the 1an is breached, as long as there is four
onov of wall between the entrance and the breach, we may
carry in the entire »12». This seems to support 90y 11 that a
minimum hechsher nan is 4 »nov

However, even »ax may agree with this because maybe he
only requires four mm»X when initially building a »an but not
where a valid nan previously existed.

PR - 719 RIIDR RID 72N IR gives two possible sources for his
opinion:

First, the xn»92 says

N5 PIMND NMXM DN2INW TY ANPI A1 I3 N0 PR -

In order for a beam or a pole to allow carrying in a "2 the
nan must have houses and M3 that open up into it.

»IR points out that if you take into consideration that a door
needs to be 4 nov wide plus door posts, now if the entire
depth of the »1an is only four o’nov there would be no room
for the doors of the multiple M3 to open into it, plus the
fact that its length has to be greater than its width.
Therefore Abaya says that it needs to be a minimum of 4
amos deep. qor 1 however would answer that the m~sn can
open into the "an from each of the back corners on an angle.
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Second, ®nm 327 holds that a 'nS that is four m»R long is no
longer considered a 'r>, but a wall of the »1am, and PR 15 773
17NnY - it requires another 'n> to permit it - apparently

because four mnx is the size of a 1an. Rav Yosef would ZM
respond that the maximum size of a ’n> and the minimum
size of a 1an are not related. "N
LRl 4
LS, soves
The Gemara elaborates; I the size of 2T
12 YW 19TH V2N MY R 2T IR RO T2 2107 IR RO - and the sizé 0t 4 nan

: . . t relate
If there is an oversized 'n® protruding at least four mnx from (L

the wall of the »12m, it no longer functions as a 15, but is
considered part of the wall, and we need another °'n> to permit
carrying in the »an.

The x o discusses several issues relating to this poo:

17PN 127 N2 MK - where would the new 'mb be placed - for
if he merely adds it to the existing wide 'r>, it becomes part

of the invalid "n>? RINT 3 AN NIAM 92 97 TN KDY
"an S upm vMan nbh
There are two possible answers: ‘“ - f
. -1- It must be placed at the other side of the entrance, opposite y 1
the oversized . ~m I ' -

-2- It may be placed as an addition to the original oversized
m5, but it must be made a bit taller or shorter than the original
'Y so that it would be recognizable.

YW 277 32 RIT 27 X - The additional 'n% is only >
necessary if the width of the a1 is at least eight MK, but if it e
is seven mnK, the oversized 'r> would make the fourth side 1PN i:’,'l ’n‘7 NIN
Y1797 5 7 T - more wall than open space, and would 2 1
serve as a fourth wall.
N, N
The assumption is based on a M Sp. If a 931 which cannot i _ ' _ ' J

be permitted with an> or 7Mp, can be permitted with a fourth
wall, a 7an which can be permitted with a n% or np, can
certainly be permitted by a fourth wall.

ANPW 1A RIPDIPOR MR WK 27 - Rav Ashi adds that even if
the 1am is exactly eight MR wide, the four nnr wide 'n5
should work.

o1 nn - Either way -

Ifthe °n> is slightly more than 50% of the width of the "‘ i !
opening, it is Y1191 5y 721w 7w and works like a wall. If the 3 le I . '
> is slightly less than 50% of the width, it is less than four U nl\lﬁ f

mnx and should still work as a °n5. The possibility that the 'n J 120
is exactly 50% of the entranceway is only a pov and j7127 poo
5pn> - we are lenient on doubts relating to 131177 issues like
carrying in a "an.
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